Unit 4.5, 4.7 and 4.8 Balance of Payments

Balance of Payments
the Current Account

The current account summarizes a country's trade in currently produced goods and

services. u\(

- "Balance of trade". It measur S \ﬁhe dlfference between a country's
expenditures on |mports ome from exports of goods and services.

The bala @@‘fﬂ go d nown as "the visible balance”
x trad efB © |c is known as "the invisible balance"
P(Bgance on thpca\%t account is found by adding all transactions (expenditures

on imports plus income from exports) in the current account.

e If a country spends more on imports than it earns from exports, it is said
to have a "current account deficit" or a "trade deficit".

e If a country earns more from its exports than it spends on imports, it is
said to have a "current account surplus” or a "trade surplus”.

For example: US expenditures on laptop computers made in Taiwan count towards a deficit
in the US current account. The export revenue for Taiwan moves its current account towards
surplus.

Taiwan's expenditures on airplanes made in the US count towards a deficit in Taiwan's
current account. The export revenue earned by the US moves its current account towards
surplus
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Balance of Payments
Balance of Trade

BoP Case Study: Examine the table below. Calculate US's balance of trade with

each of its top 15 trading partners. \(
Source: htt\ susbureau.biz/foreign-trade/balance/c5700.html
Total Trade (Goods) N 0‘65
Rank ‘( Q“\ O" %pnrh _ I.n.tpurt: '_I.'nla] Trade Percent of Total
3 (Year-to-Tiate) (Year-to-Diate) (Year-to-Diate) Trade
(e\, \&l All C 96 11633 19536 31170 100.0%%
P Total, Tnp@a 8104 14416 11630 T16%
1 Canada 2489 3131 262.0 18.0%%
2 China 63.2 2215 3867 12 4%
3 Ideaco 136.2 2108 73 11.1%6
4 Japan 627 1455 208.1 6. %%
5 Federal Bepublic of Germany 497 94 4 144.0 4 6%
] United Kimgdom 50.3 56 9 107.2 34%
7 Eorea, South 4.7 47 6 23 2.6%
g France 274 416 69.0 2. 2%
9 Tarwan 26.4 383 4.7 2.1%
10 IMethetlands 33.0 184 514 1.6%
11 Eranl 24.6 236 0.3 1.6%
12 Venemuela 10.2 399 50.1 1.6%
13 Ltaly 14.1 a0 452 1.6%
14 Saudi Arabea 10.4 356 460 1.5%
15 SImgapore 26.3 152 4 447 1.4%
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Balance of Payments
Consequences of current and capital account imbalances

Consequences of a current account deficit: \4
\e SOV
e Foreign ownershiplﬂqv_@&%c assets: such as property, businesses,
stocks and x&m a en&?@omic sovereignty, national security. If
foreig I ith i ggc@ y and sell off assets, will lead to massive
P%\é\ t ovfacglﬁt%'s currency, destabilizing economy further.

- Foreign indebtedness: Current account deficits must be offset by capital
account surpluses. To attract financial investment in the economy central
banks must keep interest rates high, discouraging domestic investment,
which threatens to further increase current account deficits in the future.

Example: China uses some of its US$ reserves to buy US gov't bonds, financing
US budget deficits. Since it can borrow from China, the US gov't can keep
taxes low, meaning higher levels of disposable income and consumption for
Americans. Since much of US consumption is made up of imports from China,
low taxes mean strong demand for Chinese output. Indirectly, China's
purchase of US gov't bonds is financing America's trade deficit with China.
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Balance of Payments
Consequences of current and capital account imbalances

In 2007 the US current account deficit was ut $800 billion.

)
a\e CO
N>
e From 1992 till ag“h .S ecqeotZy%rew more rapidly than the economies of several
S.

major tragli Ka
ﬁ ﬁ)og)sted U.S. purchases of foreign goods.

o Thi th of in e
P(eﬂcontrast ane European nations, and Canada suffered recessions or slow income
growth during this period.

 Also, a declining savings rate in the U.S. has contributed to U.S. trade deficits and an
increase in foreign investment in U.S.

Causes of the trade deficit

Implications of U.S. trade deficits

« A trade deficit means that the U.S. is receiving more goods and services as imports from
abroad than it is sending out as exports. This gain in present consumption may come at the
expense of reduced future consumption.

A trade deficit is considered “unfavorable” because it must be financed by borrowing from
the rest of the world, selling off assets or dipping into foreign currency reserves.

e In 2004, foreigners owned $2.5 billion more assets in U.S. than Americans owned in foreign
assets. Therefore, the current consumption gains delivered by U.S. trade deficits mean
permanent debt, permanent foreign ownership, or large sacrifices of future consumption.

» But it could also mean higher economic growth as foreign investment expands our capital
base
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